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Answers

1.
1⁄10

2. 162

3. 38.352

4.
161⁄20 = 

161⁄20

5. 62,390

Answers

1. 5
0
⁄8= 5

2. 22

3. 23.1

4.
26⁄6 = 

13⁄3

5. 14,944

Monday

1) Write the answer as a mixed number fraction
(if possible).Reduce if possible.

1
2

-
2
5

=
1
10

2) (9 × 9) × 2 = 162 (81) × 2

3) Write the number thirty-eight and three hundred fifty-two thousandths.

4) Write the answer as an improper fraction (if possible).Reduce if possible.

For Halloween, Nancy received 3
3⁄4 pounds of candy in the first hour and another

4
3⁄10 pounds the second hour. How much candy did she get total?

5) 734

× 85

3,670

+ 58,720

62,390
Tuesday

1) Write the answer as a mixed number fraction
(if possible).Reduce if possible.

20
8

+ 2
1
2

=
40
8

2) 16 + (3 × 2) = 22 16 + (6)

3) Write the number twenty-three and one tenth.

4) Write the answer as an improper fraction (if possible).Reduce if possible.

In two months Olivia's class recycled 8
4⁄6 pounds of paper. If they recycled 4

1⁄3
pounds the first month, how much did they recycle the second month?

5) 934

× 16

5,604

+ 9,340

14,944
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Answers

1. 3
2⁄8= 3

1⁄4

2. 60

3. 1.072

4.
109⁄45 = 

109⁄45

5. 55,144

Answers

1. 3
1⁄6

2. 4

3. 955.99

4.
58⁄30 = 

29⁄15

5. 40,158

Wednesday

1) Write the answer as a mixed number fraction
(if possible).Reduce if possible.

1
4
8

+
7
4

=
26
8

2) (2 + 8) × 6 = 60 (10) × 6

3) Write the number one and seventy-two thousandths.

4) Write the answer as an improper fraction (if possible).Reduce if possible.

The combined height of two pieces of wood was 8
2⁄9 inches. If the first piece of

wood was 5
4⁄5 inches high, how tall was the second piece?

5) 904

× 61

904

+ 54,240

55,144
Thursday

1) Write the answer as a mixed number fraction
(if possible).Reduce if possible.

10
6

+
3
2

=
19
6

2) (26 + 6) ÷ 8 = 4 (32) ÷ 8

3) Write the number nine hundred fifty-five and ninety-nine hundredths.

4) Write the answer as an improper fraction (if possible).Reduce if possible.

A large box of nails weighed 5
5⁄6 ounces. A small box of nails weighed 3

9⁄10

ounces. What is the difference in weight between the two boxes?

5) 582

× 69

5,238

+ 34,920

40,158
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Answers

1. 1
22⁄24= 1

11⁄12

2. 4

3. 6.095

4.
343⁄24 = 

343⁄24

5. 41,405

Friday

1) Write the answer as a mixed number fraction
(if possible).Reduce if possible.

26
8

-
16
12

=
46
24

2) (16 - 2) - 10 = 4 (14) - 10

3) Write the number six and ninety-five thousandths.

4) Write the answer as an improper fraction (if possible).Reduce if possible.

A small box of nails was 10
1⁄8 inches tall. If the large box of nails was 4

1⁄6 inches
taller, how tall is the large box of nails?

5) 637

× 65

3,185

+ 38,220

41,405
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Answers
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0
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3. 23.1

4.
26⁄6 = 
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5. 14,944

Monday

1) Write the answer as a mixed number fraction
(if possible).Reduce if possible.

1
2

-
2
5

=
1
10

2) (9 × 9) × 2 = 162 (81) × 2

3) Write the number thirty-eight and three hundred fifty-two thousandths.

4) Write the answer as an improper fraction (if possible).Reduce if possible.

For Halloween, Nancy received 3
3⁄4 pounds of candy in the first hour and another

4
3⁄10 pounds the second hour. How much candy did she get total?

5) 734

× 85

3,670

+ 58,720

62,390
Tuesday

1) Write the answer as a mixed number fraction
(if possible).Reduce if possible.

20
8

+ 2
1
2

=
40
8

2) 16 + (3 × 2) = 22 16 + (6)

3) Write the number twenty-three and one tenth.

4) Write the answer as an improper fraction (if possible).Reduce if possible.

In two months Olivia's class recycled 8
4⁄6 pounds of paper. If they recycled 4

1⁄3
pounds the first month, how much did they recycle the second month?

5) 934

× 16

5,604

+ 9,340

14,944
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Answers

1. 3
2⁄8= 3

1⁄4

2. 60

3. 1.072

4.
109⁄45 = 

109⁄45

5. 55,144

Answers

1. 3
1⁄6

2. 4

3. 955.99

4.
58⁄30 = 

29⁄15

5. 40,158

Wednesday

1) Write the answer as a mixed number fraction
(if possible).Reduce if possible.

1
4
8

+
7
4

=
26
8

2) (2 + 8) × 6 = 60 (10) × 6

3) Write the number one and seventy-two thousandths.

4) Write the answer as an improper fraction (if possible).Reduce if possible.

The combined height of two pieces of wood was 8
2⁄9 inches. If the first piece of

wood was 5
4⁄5 inches high, how tall was the second piece?

5) 904

× 61

904

+ 54,240

55,144
Thursday

1) Write the answer as a mixed number fraction
(if possible).Reduce if possible.

10
6

+
3
2

=
19
6

2) (26 + 6) ÷ 8 = 4 (32) ÷ 8

3) Write the number nine hundred fifty-five and ninety-nine hundredths.

4) Write the answer as an improper fraction (if possible).Reduce if possible.

A large box of nails weighed 5
5⁄6 ounces. A small box of nails weighed 3

9⁄10

ounces. What is the difference in weight between the two boxes?

5) 582

× 69

5,238

+ 34,920

40,158
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22⁄24= 1

11⁄12

2. 4
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4.
343⁄24 = 

343⁄24

5. 41,405

Friday

1) Write the answer as a mixed number fraction
(if possible).Reduce if possible.

26
8

-
16
12

=
46
24

2) (16 - 2) - 10 = 4 (14) - 10

3) Write the number six and ninety-five thousandths.

4) Write the answer as an improper fraction (if possible).Reduce if possible.

A small box of nails was 10
1⁄8 inches tall. If the large box of nails was 4

1⁄6 inches
taller, how tall is the large box of nails?

5) 637

× 65

3,185

+ 38,220

41,405


